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Correct : 1 Wrong : 0.33
Identify the type of rocks formed due to the cooling of magma at a considerable depth from earth’s surface.

Options :
1 « Plutonic rocks

- % Volcanic rocks
« Sedimentary rocks

« Metamorphic rocks

Question Number : 1 Question Id : 7246221121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 2 Question Id : 7246221122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
A good structural stone should possess a crushing strength of more than

Options :
y # 25N/mm?®

> % 50 N/mm?

75 N/ mm?

.UJ
i

4 « 100 N/mm?

Question Number : 2 Question Id : 7246221122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Options :
1 ® 25 N/mm?

5 % 50 N/mm?
5 & 75 N/mm?

4« 100 N/mm?

Question Number : 3 Question Id : 7246221123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
In Portland cement. the C3S and C,S present in their impure form are called as:

Options :
1 #% alite and celite.

- % belite and felite.
3 « alite and belite.

4 % alite and felite.

Question Number : 3 Question Id : 7246221123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
el T # AU 3E §F H 39w C3S 3R C,S T FAT FEr e g7

Options :
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, « TOEE 3R Hemge

Question Number : 4 Question Id : 7246221124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
When cement is tested for fineness by Blaine’s air permeability method as described in IS403 1-1968, the specific
surface of cement shall NOT be less than

Options :
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225 mm* /kg

[
®

2250 x 10 mm? /kg

5]
®

225 x 10* mm? /kg

NNE & 2:;',.
4 225 x 10® mm* kg

Question Number : 4 Question Id : 7246221124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Options :

. » 225 mm?/kg

P
.« 2250 x 10° mm?/kg
« 225 x10° mm?/kg

, 225 x10° mm?/kg

Question Number : 5 Question Id : 7246221125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Rapid hardening Portland cement can be obtained by:

A. Higher fineness of grinding.
B. Higher C,S and lower €35 content,

Options :
1 « Statement A is tue B is false.
- % Statement B is true A is false.

> % DBoth statements are true.

4 % Both statements are false.

Question Number : 5 Question Id : 7246221125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 6 Question Id : 7246221126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Timber quality does NOT depend on the;
Options :

, w type of the tree

5 % time of the felling

maturity

4 « Size of the tree

Question Number : 6 Question Id : 7246221126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Question Number : 7 Question Id : 7246221127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Which of the following IS code that gives the ceramic tile classification and characteristics?

Options :
1 % IS 12269 :1984

>  IS13712: 1993

- % IS 2386 Partl

4 % IS 10262 : 2009

Question Number : 7 Question Id : 7246221127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Options :

% 1S 12269 : 1984

> IS 13712 : 1993
2 % IS 2386 87T |

. % 1S 10262 : 2009

Question Number : 8 Question Id : 7246221128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Specific gravity of bitumen ranges between:

Options :
. % 0.61100.76

# 0.821t00.95

]

& 09710 1.02

g

4 % 1.05t0 1.41

Question Number : 8 Question Id : 7246221128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Options :
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. % 0.61-0.76
, % 0.82 - 0.95
2« 097 - 1.02

1.41

. % 105

Question Number : 9 Question Id : 7246221129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
The main function of base in oil paint is to:

Options :
1 % reduce the cost.

- % help in spreading the paint evenly on the surface.

5 « brovide an opaque coating which would hide the surface to be painted.

4 % accelerate the process of drying of the paint.

Question Number : 9 Question Id : 7246221129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 10 Question Id : 7246221130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Which type of paint is obtained by adding a base like white lead. or zinc white, to a vehicle which is a varnish?

Options :

, w Silicate paint
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- % Plastic paint

5 % Aluminum paint

4  Enamel paint

Question Number : 10 Question Id : 7246221130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 11 Question Id : 7246221131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
The constituents of varnish are:
Options :

| « lesins, driers and solvents.

5 % an inert extender, driers and solvents.
- % lresins, colouring pigments and solvents.

« an inert extender, resins and solvents,

Question Number : 11 Question Id : 7246221131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 12 Question Id : 7246221132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
is used as a solvent in making ‘cut back’ bitumen.

Options :
1 % Petrol

» # Diesel
= « Kerosene

4 % Turpentine

Question Number : 12 Question Id : 7246221132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 13 Question Id : 7246221133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

The treatment given to the varnished surface to modify its elegance and obtain a highly pleasing lustrous surface is
called )

Options :

- « Wax polishing

- % painfing
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4 % knotting

Question Number : 13 Question Id : 7246221133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 14 Question Id : 7246221134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Review the following statements and select the most appropriate option.

With the known position P and Q on the ground any other point R on the ground located by:

A) Distance PR and QR can be measured and point R can be plotted by swinging the two arcs to the same scale to
which PQ has been plotted.

B) The distance QR and the angle POR can be measured and point R is plotted either by means of protractor or
trigonometrically.

Options :

1 % Statement A is ttue B is false.

~» % Statement B is true A is false.
2 « DBoth statements are time.

4 % DBoth statements are false.

Question Number : 14 Question Id : 7246221134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 15 Question Id : 7246221135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
1 nautical mile is equal to:

Options :
1 % 1.258km

1.528 km

[J

& 1.852 km

i

4 % 1.825 km

Question Number : 15 Question Id : 7246221135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
1 Tadr e & SIS BT gl

Options :

. % 1.258 km
> % 1.528 km

- v 1.852 km
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. % 1.825 km

Question Number : 16 Question Id : 7246221136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Select the most appropriate option that shows the corresponding quadrantal bearing of the whole circle bearing 137° 30°,

Options :
1 ® 542° 30°W

5 « S42°30°E
5 % N42°30°W
4 % N42°30°E

Question Number : 16 Question Id : 7246221136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Options :
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Question Number : 17 Question Id : 7246221137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Identify which is NOT a part of a prismatic compass.
Options :

1 % Prism

- % Lifting pin

3z ® Pivot

4 « Plummet
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Question Number : 17 Question Id : 7246221137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Question Number : 18 Question Id : 7246221138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
The process of determining the plotted position of the station eccupied by the plane table, by means of sights taken
towards known points is termed as

Options :
1 % radiation

> % intersection
3 & lesection

traversing

Question Number : 18 Question Id : 7246221138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 19 Question Id : 7246221139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Review the following statements and select the most appropriate option.

In theodolite

A) The lower plate is attached to the outer spindle and it carries a horizontal circle at its beveled edge.
B) The Upper plate is attached to the inner axis and it carries verniers with magnifiers at two extremities
diametrically opposite.
Options :
1 % Statement A is ttue B is false.

> % Statement B is true A is false.
z « Both statements are true.

4 % Both statements are false,

Question Number : 19 Question Id : 7246221139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 20 Question Id : 7246221140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

An instrument was set up at P and the angle of elevation to a vane 4 m above the foot of the staff held at Q was 30°. The
horizontal distance between P and Q was known to be 200 m. If the reduced level (RL) of the instrument axis was to
251.00 m, the RL of the staff station Q will be

Options :
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1 % 11547 m

251.00 m

[
®

o 36247Tm

L

4 ® 36647m

Question Number : 20 Question Id : 7246221140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Options :

. % 11547 m
> % 251.00 m
5 v 36247 m

. % 366.47 m

Question Number : 21 Question Id : 7246221141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
The watershed line:
Options :

, % always runs along the contour lines.

- % is parallel to the contour lines.

5 « 1S perpendicular to the contour lines.

4 % combines the drainage area.

Question Number : 21 Question Id : 7246221141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Question Number : 22 Question Id : 7246221142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
The correction for curvature and combined correction for curvature and refraction for a distance 1.500 m are:

Options :
1 w 176m, 151 m,

5> % 176.cm, 151 cm.

2 176 mm, 151 mm.

4 # 176 km, 151 km.

Question Number : 22 Question Id : 7246221142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Options :

. 176 m, 151 m

3
5 % 176 cm, 181 cm
5 « 176 mm, 151 mm
4 = 176 km, 151 km

Question Number : 23 Question Id : 7246221143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
In permanent adjustment of dumpy level, the principle of reversal states that “'if any error exists in certain parts of an

instrument, it is on reversing i.e. revolving through 180° the position of that part™.

Options :

, % leduced by half

» « doubled
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3 % becomes 4 times

4 % remains the same

Question Number : 23 Question Id : 7246221143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Question Number : 24 Question Id : 7246221144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Review the following statements and select the most appropriate option.

By using a contour map:
A) Intervisibility between two points.can be determined.
B) The line separating the basin from rest of area can’t be fraced.

Options :
1 « Statement A is ttue B is false.

- % Statement B is true A is false.
z % DBoth statements are true.

4 % DBoth statements are false,

Question Number : 24 Question Id : 7246221144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

ﬁﬁﬁ'ﬁiﬁ'mﬁﬂﬂ?ﬁ%&ﬁ?mﬂ%w FeT &1 99T FI|
Fogd HT & TIT A

A)ar figat & & wew Temar i 5w g
B)sfa= (Zof) = arhr &5 & 34e9T T el W AT Fel T FT FEAT

Options :

. v FUF A TEE, B e g
, » ®UT B WE B A AT g

.« G FUST TS g

Question Number : 25 Question Id : 7246221145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

In tachometric surveving, observation on the vertically held staff at BM gave the readings 1.64, 1.92, 2.20, the
inclination of the line of sight being +1° 6. Calculate elevation of the collimation at the instrument if the RL of
BM is 418.685 m. The constants of the instruments were 100 aud 0.3

Options :
1 % 420.605 m

o o 419524 m
7 % 421.230m

4 % 420.000 m

Question Number : 25 Question Id : 7246221145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

SHIHRT TIETUT H A R (BM) W @ FeaneR g3 & Adetor ov §fFer 1.64, 1.92, 2.20 &= &,

g @ (IS HH "EQ) Fir FAT +1° 6 g1 Tfg BM =7 FAWE o (RL) 418.685 m & &f o9 T
FHATERUT & 3e7d ST 0T Fifavw| 7 F Amaes 100 39T 0.3 2
Options :

. % 420.605 m

> v 419.524 m
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5 % 421.230 m

. % 420.000 m

Question Number : 26 Question Id : 7246221146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Review the following statements and select the most appropriate option.

In tachometric surveying:

A The stadia method is based on the principle that the ratio of the perpendicular to the base is constant in similar

isosceles triangles.
B. In the sub-tense method, the tachometric angle is always constant for a given telescope.

Options :
1 « Statement A is true B is false.
> % Statement B is true A is false.

= % Both statements are true.

4 % Both statements are false.

Question Number : 26 Question Id : 7246221146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

frrafafae Fuat &1 com @ 92 3R @1os 3985 Resy &1 999 &
ErAET T H
A) RET B0 =0 fEe W 3mife 3 & ow-aa gaefaeg e d #ffem 3§ 3R & 3T

oo e &
B) F-¢=W Ay # B 71v & & BT e Fior w7 FEg W g

Options :

| v FUF A TEI §, B e g
, » YA B FE 8, A 7o gl
. » Gl FUT TEr g

.« G FUF TS B

Question Number : 27 Question Id : 7246221147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0.33

If the soil is fully saturated, then it is said to be:
Options :

. w one-phase system with soil.

5 % two-phase system with soil and air.

5 « two-phase system with soil and water.

4 % three-phase system.

Question Number : 27 Question Id : 7246221147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

IfE Fer 0T Tged & af TH FI7 FEr ATCer?

Options :
. ToT ToFd Th-STEEAT (I-05) JOTelr

L« 01 T Y TFA ST (W) Homel
S_Jaara&ﬂmgﬁa‘r-mn@-ﬁrgnm

, w CIE-FEET (YT-55S) FUTe

Question Number : 28 Question Id : 7246221148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

If the void ratio of a soil sample is 0.42 its porosity will be
Options :

1.« 29.50%

5]
®
L]
i
" Y

=
=]
o

42.00 %

Ly
®

72.41 %

i
b

Question Number : 28 Question Id : 7246221148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
ofg Her & e e & e e (3 ) 0.42 § & swehr wwer (IRfad) e gl

Options :
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L v 2950 %
> % 31.45 %
> % 42.00 %

L8 7241 %

Question Number : 29 Question Id : 7246221149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

HeT ¥ TUSH FARIEE & WAEF U FAT 21T 22

Options :
. ® 2.30 - 2.40
> % 3.10 - 3.25

5 % 4.05 - 4.15

5.30

. v 5.00

Question Number : 29 Question Id : 7246221149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Specific gravity of a soil constituent hematite is:

Options :
1 % 2.30-2.40

5 % 3.10-3.25
s % 4.05-4.15

Question Number : 30 Question Id : 7246221150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

The bulk unit weight of an embankment soil, compacted at a water content of 12% is 18.73 kN/m?, Select the option
that gives the dry unit weight.

Options :
1 # 1431 kKN/m?

> # 15.23 kN/m’
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z « 16.72 kKN/m?

4 % 17.89 kN/m?

Question Number : 30 Question Id : 7246221150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
12% Stener X Fgfea e 9eay HaT & 5 (Fo%) o1 % 18.73 kN/m® | & 3915 &R I

e BeeT &1 IuT FY

Options :

L% 14.31 kKN/md
5 15.23 kN/m3
s v 16.72 kN/m3

4 % 17.89 kKN/m3

Question Number : 31 Question Id : 7246221151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Soil sample having most of the particles of all sizes termed as
Options :

1w Well-graded

gap-graded

Ll

.2

uniformly-graded

s
#

4 % skip-graded

Question Number : 31 Question Id : 7246221151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
TET F I FHA H FAT Fad ¢ TN g1 HFR F HADEr FoT g 87
Options :

1. % 3?1'-?}?'5"
o B ﬂ.q-?jgg
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4 & %—Tq'-iﬁ%‘s'

Question Number : 32 Question Id : 7246221152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Select the option that gives the coefficient of uniformity of a soil sample. if 10 % of particles are less than 0.4 mm and
60 % of particles are less than | mm in size.

Options :
1 % 040

# 1.00

%

A2

LJ

4 % 1.40

Question Number : 32 Question Id : 7246221152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Ifg Her & el 77 & 10% &or 0.4 mm ® FF 3R 60% FoT. 1 mm & &F F&X & &, af 38
THA F FHAAT 0MF = Erem?

Options :

. % 0.40
> % 1.00
2 1.25

4 % 1.40

Question Number : 33 Question Id : 7246221153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Maximum water content at which a reduction in water content will NOT cause a decrease in the volume of soil mass is
known as

Options :

, w liquid limit

- % plastic limit
5 « shrinkage limit

4 = liquidity index
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Question Number : 33 Question Id : 7246221153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
g HOFAH T FAT FEodT g THHH A F AU U W HET & FAHT F FAT AT gr?

Options :

5w TolliEces HIAT

. o TP HET

_ edT §EFS
v £

Question Number : 34 Question Id : 7246221154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
If the plastic limit of a soil is 209 and plasticity index is §%. then its liguid limit will be

Options :

1 # 04%
5 ® 2.5%
3. % 12%
4 o 28%

Question Number : 34 Question Id : 7246221154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

ofE fREY Fer #r cantEes HET 20% 3R CeniEEedr gk 8% g o $He ol TIAT F4T g
Options :

. % 0.4%

> % 2.5%
2 % 12%

L 28%

Question Number : 35 Question Id : 7246221155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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In a plasticity chart, the *A” line is expressed as

Options :
. % lp=085(20-Wy)
o x lp=073(20-Wp)

Question Number : 35 Question Id : 7246221155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
CATTEEHdT o H ‘A’ ST & Fag g2rar Sar g2

Options :

|« lp = 085(20-W)

| = 0.73(20-W,)

| = 0.73(W, -20)

0.73/(20-W,)

Question Number : 36 Question Id : 7246221156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

According to the IS soil classification, a soil is described by symbol MH. The soil is:
Options :

| « inorganic silt of high compressibility

5 % Wwell-graded sand

- » well-graded gravel

4 % clayey-sand

Question Number : 36 Question Id : 7246221156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

IS Fer =TT % HFWR HeT & UF YN H Hord MH ZaRT S9Mam Sam &1 I HaT Har 82
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Options :

, v 39 AEETar ael IFEls e
I . ﬂﬂ-‘a‘ﬁgiﬁ'

5 #® éﬂ-?jgg EGF?T

, » FUHT (%) @

Question Number : 37 Question Id : 7246221157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

What will happen to the permeability of soil mass if air is entrapped in its voids?
Options :

1 #% Increases

> « Decreases

- % Entrapped air doesn’t affect permeability

4 % Depends on the viscosity of the fluid

Question Number : 37 Question Id : 7246221157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

afe #ger r RiFwat # arg quflia &1, 3R B g3 &1, df a1 &1 IR § Fr 9iEde gem?
Options :

Lx TEE
z.ﬁ?m@_"ﬁ

, TEHTAT AR a1 § WA @ @

, » TE RS T Iaar R FET

Question Number : 38 Question Id : 7246221158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Darcy’s law is valid for

Options :
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1 « fine sands
> % coatse sands
% gravels

4 % boulders

Question Number : 38 Question Id : 7246221158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

st 1 T e e #e 82
Options :

v T

5w o ()

¢ TEmRH (Sesd)

Question Number : 39 Question Id : 7246221159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

What is the value of effective stress if the neutral pressure is x and the value of total stress is y?
Options :

1 % XTY

2« Y-X

Question Number : 39 Question Id : 7246221159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

g 3erlie a1 x AR For 9fomer &1 A y @, JF g gfawer w1 A #4247 g

Options :

jx Xty
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Question Number : 40 Question Id : 7246221160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Pore water from the soil escapes when a load is applied on it. This process is known as
Options :

, % compaction

> « consolidation
z # effective stress distribution

4 % boiling

Question Number : 40 Question Id : 7246221160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

TR (F13) IFq9Iad 2 W JT fawrd (IR) § 9= F Fwest $r 9w F1 F2r F7r S 82
Options :

. TEAA (FHEIRE)

1. i

, o TECHIT (FeH 32)

" JHTEr Sicee faawor ($hided ®E Bregee)

, « FIUS (FraferT)

Question Number : 41 Question Id : 7246221161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Review the following statements and select the most appropriate option.

Consider the following statements related to the Mohr-Coulomb failure theory:

A. Critical stress causing the failure depends on the properties of materials but not on normal stress on the failure
plane.
B. Failure criterion is independent of the Intermediate Principal stress.

Options :
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1 « Statement A is true B is false.
> % Statement B is true A is false.
= % DBoth statements are true.

4 % DBoth statements are false.

Question Number : 41 Question Id : 7246221161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

mmﬁtmﬁﬁﬁmmwgwd e &7 I9T Fi|

AR-FeH AEed e ¥ Fafog e e © o

A) TFe (FedR) 309 FI a6 Fitash Iagel TEG H Fwarst w Fer #7war § o
Ao g9 W a9 e JWiFes gfasa o J80
B) Rrrere Aees Areufie #Ew Sioed (3eXsIsve Nied w0H) § F&aF g ¢
Options :

| v FUFT AT E, B e g

, « FUA B T &, A Tog g

, « G HUF TS &

Question Number : 42 Question Id : 7246221162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
In a direct shear test, as the test progresses, the area under shear

Options :

, % gradually increases

- « gradually decreases

- % drastically increases

4 % remains the same

Question Number : 42 Question Id : 7246221162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0.33

QoeT HIFTUT TI8TUT H TIIETUT T G & HTY-HTT IFRIUT F & [

Options :
| w SE FEAT §

. » HI UTAT §
o« HCOT SN ¥ FEaT §

, » TA @A E

Question Number : 43 Question Id : 7246221163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

The length of the specimen in a triaxial test is kept about times its diameter.
Options :
1 & 0.

L]

I
L

v

[

Question Number : 43 Question Id : 7246221163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Feriy 9ietor & a7 #F das 306 Or8 @ AT T ST g

Options :

1 # 05

2 v 2.5

4 % 7

Question Number : 44 Question Id : 7246221164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
In , the soil test specimen is first subjected to a confining pressure.

Options :
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1 % direct shear test
» Iriaxial compression test
5 % wvane shear test

« unconfined compression test

Question Number : 44 Question Id : 7246221164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
g aleor B & Fger 9ietor gfoes W e gger IR @ SEmar S g2

Options :

| % FCUET HIRIUT (STaveRe fRIaw) Tdrator

, Fenfm gdEe (eRvHaas FeueE) TaeoT
4 9 HIEIOT (37 fA3W) adtevor

. H-OFsE TIEa (3EF-0Es FEel) TLEToT

Question Number : 45 Question Id : 7246221165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Is 2720 (part VII)-1980/87 recomumends the use of a 4.9 kg rammer for heavy compaction with a drop height of

Options :
1 % 310mm

# 400 mm

[+

o 450 mm

L

4 % 510 mm

Question Number : 45 Question Id : 7246221165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

IS 2720 (77T VII)-1980/87 &Tir Heeie? & forw foraelr meitara (37) 5978 & W 4.9 kg % e &
ST T AT FLET g7

Options :

1 # 310 mm
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> # 400 mm
3 o 450 mm

4 % 510 mm

Question Number : 46 Question Id : 7246221166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Find out the theoretical maximum dry density for a soil sample having specific gravity of 2.6 and OMC = 14%

Options :

, % 1.382g/cm®
. % 1.832g/cm®
s » 1.906g/cm®

4 % 2.130g/cm?

Question Number : 46 Question Id : 7246221166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

2.6 378 Taca AT OMC = 14% Tt HeT % AHA H7 HZifcie HUHad Y& Tefed A1 HY
Options :

1.382 g/cm?

1. #

¢ 1.832 g/cm?

- 1.906 g/cm?

s 2.130 g/cm?

Question Number : 47 Question Id : 7246221167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Which among the following water content determination method is an in-situ test?

Options :
1 % Sand bath method

- « Radiation method
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= % Oven Drying method

4 % Calcium carbide method

Question Number : 47 Question Id : 7246221167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Semer uRer & e B § @ moe (579-fFe) e [fr sia-ar g7

Options :

1 & ﬂ?mﬂ%ﬁ}
z_gmﬁ%
L « HEa g @

, « iowad FrEEs f&afYr

Question Number : 48 Question Id : 7246221168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
The type of bearing capacity failure at shallow depth, in very dense sand is called:
Options :

, % Punching failure

~ # Local shear failure

Combined local and general shear failure

e
#

«” General shear failure

N

Question Number : 48 Question Id : 7246221168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

HATF FO7 T & 3T Teds W TFAe afiar Beaa (s 9 veon) T 7 @ Fig-ar 2
Options :

. % Swer B3R ek

L« FFAETS Wlhel Ues Feiidl [HT Bodil
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4 v AT AT FeIR

Question Number : 49 Question Id : 7246221169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
‘What is the net ultimate bearing capacity of a footing 2.5 m * 2.5 m built on a sand of unit weight 16 KN/m” and having

an angle of friction of 25°. The depth of the footing is 1.5 m below the ground surface. Ny 5.6 and N, -3.2.

Options :
1 « 161.6kPa

> % 216kPa
z % 120 kPa

4 # 108 kPa

Question Number : 49 Question Id : 7246221169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

T¥uT T 25° AW THFE AT 16 kKN/m® F I W a4 256 m x 2.5 m & g Fr oo =H7 TFAm=
aRar (7T sedme e SafEe) Far gef? ug & 7gus SHF H Hag & 1.5 m A= g1 Ng = 5.6
3TN, = 3.2.

Options :

. v 161.6 kPa
> % 216 kPa
2 % 120 kPa

. % 108 kPa

Question Number : 50 Question Id : 7246221170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
In standard penetration test the term “penetration resistance N means:
Options :

, % The number of blows required to drive the sampler 15 cm beyond the seating drive

- « Ihe number of blows required to drive the sampler 30 cm beyond the seating drive

= % The number of blows required to drive the sampler 45 cm beyond the seating drive
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4 % The number of blows required to drive the sampler 60 cm beyond the seating drive

Question Number : 50 Question Id : 7246221170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

HTer 9o qiiefor 7 “9us gy N 9 &7 &7 HY 2T 27

Options :
1. %

gfaefs @ Mfeer gEa & 15 cm 3EY F% F9= & T 3aeTs st (3merg) v e

oo

g & difesr 329 T 30 cm 3ET I5 T9= & &0 39eTs = (37UE) Fr gE=

o #

ﬁﬁaﬁ?aﬁmﬁhm—q’@a@s cm T % T & AT 3ETF AT (ATET) T TEaT

4, =
gfaefRs @ Mifesr s=g & 60 cm 3T F% Toe & T 3mEens = (3mETE) Fr e

Question Number : 51 Question Id : 7246221171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Dilatancy correction for SPT N value is applied to:
Options :

1 w Fine silty dry sand
> # Saturated Gravel

s w Dry Clays

4 « Fine silty saturated sand

Question Number : 51 Question Id : 7246221171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
SPT N ATF & ATmifiar ot (SToe=dr H{Fer) F JaeT F v Bar S g

Options :

e ATl FEIA oF T

1. ®
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Question Number : 52 Question Id : 7246221172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Consider the below statements with reference to plate load test
a. The test results reflect only the character of the soil located within a depth less than twice the width of bearing
plate.
b. Test gives the ultimate settlement also.

Options :
1 « Statement A is true B is false

» % Statement B is true A is false
- # DBoth statements are true

4 % Both statements are false

Question Number : 52 Question Id : 7246221172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
o @E TiaT & TEY # A9 BT ov Fuar a7 oune 2
A) TIBTOT F GROTH HFa S8 FAT F FART G4 & S 931NET wie # Sls® & de A & A
TR W BT #
B) glreTur TXH fAve (HediHe Heade) o 21 ¢

Options :

. v FUF A TEE, B e gl
, » ®YUT B TE B A TES g

.« G FUT TS g

Question Number : 53 Question Id : 7246221173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Width of test pit in plate load test should be at least
Options :

| « O times the test plate width
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5 % 9 times the test plate width

5 » 12 times the test plate width

4 % 14 times the test plate width

Question Number : 53 Question Id : 7246221173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

TIT g 90T H 9T I1q Fr =iES FH-B-FH fFaer g Aee?
Options :

lﬁqﬁmﬁzﬁﬁs@;ﬁEﬂm
|y T TE Fr e F 9 TN
. 5 TRETOT e Y Sies & 12 7

, » TUET TAE Fr Tes & 14 @

Question Number : 54 Question Id : 7246221174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Which equipment i1s NOT used for compacting cohesion less soils?
Options :

1 % Smooth wheel

5 % Vibratory roller
z % Pneumatic roller

» Sheep foot roller

Question Number : 54 Question Id : 7246221174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
FOAAGI Hal & Tgad H o5 J F HiA-A7 39907 YT AT T ATAT?

Options :

w
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Question Number : 55 Question Id : 7246221175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

The SI unit of viscosity is:
Options :

1 % m/s

> # N-m/s
-,
=z #® IN/m”

4 o N-s/m?

Question Number : 55 Question Id : 7246221175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

QUTATT T THATE (SI) SHE F41 87

Options :
1 ® m/s

> # N-m/s

4. N-s/m?

Question Number : 56 Question Id : 7246221176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Which of the Following is the mechanical pressure gauge ?

Options :
1 # manometer

5 % plezometer
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5  Bourdon tube pressure gauge

4 % U-Tube manometer

Question Number : 56 Question Id : 7246221176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
T 7 ¥ Fi9-a1 Ahfase 93 3= 27

Options :

_, @ AT (@5 TE)

I-2gg HAART

4 W

Question Number : 57 Question Id : 7246221177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Absolute pressure is equal to
Options :

| « Atmospheric pressure + gauge pressure

Atmospheric pressure — gauge pressure

[

Vacuum pressure — gauge pressure

Vacuum pressure — gauge pressure

Question Number : 57 Question Id : 7246221177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

oreT Tw Fas FUeT g 22

Options :

| TEFESE ga + AT (@) g

, TGHSAT ¥ - gAY (A=) g

2;
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. « e g + FA (9) a1

, « e g - FA () g

Question Number : 58 Question Id : 7246221178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

A rectangle surface is having area b > d. if the centre of gravity from base is at d/2. the value of moment of inertia about
its centroidal axis will be:
Options :

i = db¥/12
5 o bd3/12
5 # bd/3

3

Question Number : 58 Question Id : 7246221178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

U HAARFR 56 F &The b x d gl I Ted g AWK F /2 T A FHF Feehd HaT WAoo
HTEUT FT H FAT gE?

Options :

. % db2/12
> « bd3/12
- % bd/3

4 % dbd/3

Question Number : 59 Question Id : 7246221179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

The point about which a body starts oscillating when the body is tilted by a small angle
Options :

1% Centre of Buoyancy

> « Meta center
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4 & Vein

Question Number : 59 Question Id : 7246221179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

FE FT TF B FI0T W A9 B T W TF Bg & - e FT YF W aaT ¢ 39 &g #
T FE 87

Options :

» IcColdddr-hg (UST HTH 13

1.

o » TIEE (AT

Question Number : 60 Question Id : 7246221180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Condition of stable equilibrium of submerged body:
Options :

1 « Weight of body is equal to buoyancy force & buoyancy point is above the center of gravity

Buovancy force should be in between the center of gravity and buoyancy point

.2

5 % Buoyancy force should be below the center of gravity.

% Buovancy force coincide with center of gravity.

Question Number : 60 Question Id : 7246221180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

fefoaa (Fea=s) Tor & TR vgow (Faa soafofses) & 3@ & o # #1 §g 27

Options :
1. ¢

e &1 9 3ecaTasar §9 F UK gaT g AN ScCeladdl e IRed Hg 8 TR A gl

ScCeTashdl 1 ocd g IR Scoaasdl [4g & 9= A g A1y

o ®
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SccAdehal Sol J¥cd g & A" glell =gy

5 ®

Sccoaehdl So I g & TUET g gl

4 ®

Question Number : 61 Question Id : 7246221181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Bernoulli equation will not be used in
Options :

1 % Venturimeter

» Centrifugal pump

z % Orifice meter

4 # Pitot tube

Question Number : 61 Question Id : 7246221181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
ST FHEIT FT g e # ¥ BhEd FJEF gEr

Options :

FeiideT

1. % 2

P ‘..-._ T % d-q

o

4, ® =N

Question Number : 62 Question Id : 7246221182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Calculate the Reynolds number if a fluid flows through a pipe of diameter 100 mm with velocity 0.5 m/s having density
of 900 kg.f"m?' and having viscosity of 0.097 kg/m-s.

Options :

1 ® 5144

1
#®
Ln
i
[~
n
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4 % 508.4

Question Number : 62 Question Id : 7246221182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
TfE 900 kg/m? TaeT 3T 0.097 kg/m-s 2TFAT 1 Tk o 100 mm <OTH & TH 95T &
0.5 m/s &F 9T F WATEd &IaT § df Iesd HE&AT HT 0T F|

Options :

. % 514.4
> v 510.3
2 5125

. % 508.4

Question Number : 63 Question Id : 7246221183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

If for a given length of the channel, the velocity of flow; depth of flow, slope of the channel and cross —section remains
constant, the flow is said to be

Options :

Steady flow

#

1

» % Laminar flow

= " Uniform flow

5

4 % Stream flow

Question Number : 63 Question Id : 7246221183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
g v Afad a8 F W99 & ROw yag F1 39, yaE H TS, a9 H Jquer dHT sSaeer-ae
g g a7 0 991g & F4T SHEr S0’

Options :

, » FREA (8 vy’

, « FeoT (AfFeR) war

S_JW(aﬁm@m
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Question Number : 64 Question Id : 7246221184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Find the velocity of flow of water through a rectangular channel of 6 m wide and 3 m deep. when it is running full. The
channel is having bed slope as 1 in 2000. Take Chezy’s constant C = 55.

Options :
1 « 1.506 m/s

> % 1.476 mys
z #% 1.469 m/s

4 % 1.589 m/s

Question Number : 64 Question Id : 7246221184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
6 malS, 3 m e U T TE F M HIAHR el F 2ol A dTel TTaAl o JaTg & 997 S 0T
w1 DT F T BT g90Tar 2000 F 1 g1 == FEe ¢ = 55

Options :

1 « 1.506 m/s

> # 1.476 m/s
=z % 1.469 m/s

4 % 1.589 m/s

Question Number : 65 Question Id : 7246221185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Type of spillway which male use of the difference in height between the intake and the outlet to create a pressure
difference needed to remove excess water:

Options :

1 ® Chute spillway

5 % Stepped spillway

- % Bell mouth spillway

4 « Siphon spillway
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Question Number : 65 Question Id : 7246221185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
S HeeeE AT (Boed) y3afea o=t FF Feea & [T 3mEgs 99 3R 99 F BT sa32% 3k
HTZToe H FaAEdr F AT F AT FIGT §, 3T T FES 87

Options :

e T

1.

> » Fes Paed

. » TET TEerE

Question Number : 66 Question Id : 7246221186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
A concrete or masonary structure placed in an open channel over which the flow occurs is called a/an:

Options :
1 % Notch

3 # Orifice

Mouthpiece

Question Number : 66 Question Id : 7246221186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

T Gol A H TUd Fee I7 He FF 57 S F R @ 6% A9 § 38 FA FEd 87
Options :

1. #* F-I:IJ?E

E.Jﬁm

Question Number : 67 Question Id : 7246221187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0.33
The hydraulic machines which convert hydraulic energy in to mechanical energy called as:

Options :
, % bump

- « turbine

5 % dynamo

4 % rotometer

Question Number : 67 Question Id : 7246221187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
3T ga=tod AN & FAT Fgd ¢ AT 41T FAT I T FaT H g6 2dr 87

Options :
1 #® q9

el 4 SCIED

Ly
¥

Question Number : 68 Question Id : 7246221188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

The pH value of the incoming water is 7.2 and outgoing water is 8.4, assuming a linear variation of pH with time
determine average PH value of water.

Options :

1 ® 7.800

@ 7.474

[+

i
:ﬂ
B

Question Number : 68 Question Id : 7246221188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
HaF e F pH FF 7.2 3R Tl S F1 pH 71 8.4 §1 8 Ao g€ 5 ¥HT F @ pH F A
#F e ofteas gfar &, =9 ¥ 3img pH A= 7 o HifEw)

Options :
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5

. % 7.800
> v 7.474

Question Number : 69 Question Id : 7246221189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Consumption of higher concentration of fluorides exceeding 1.5 mg/L may cause:

Options :
1 % Arsenicosis

5 x Argyria

= % Blue baby disease

4 « Fluorosis

Question Number : 69 Question Id : 7246221189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

UANTES & 1.5 mo/L ¥ 3T 3= WEUT & 39T F Fid-A7 T g Tehal g2
Options :

e}

sog Sl 9T

4_gmﬁ'\q’

Question Number : 70 Question Id : 7246221190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Water borne disease Typhoid fever is caused by
Options :

1 Salmonella typhi
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> % Amoeba
% Typhi shiga bacillus

» Entamoeba hystalytica

Question Number : 70 Question Id : 7246221190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
FA-Afad AT TIAFET FT* FROT g &7

Options :

| v TICAET T
« T R $few
. » TeeEEr R

Question Number : 71 Question Id : 7246221191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

When an aquifer is confined on its upper and undersurface. by impervious rock formation is termed as:
Options :
, % Unconfined aquifer

% INon-artesian aquifer

5 « Confined aquifer

« Perched aquifer

Question Number : 71 Question Id : 7246221191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

FIeT (3FRETE) 3 WA g 9 FEr FesE F F AR FEe 758 39wE g § af 39
Fgd £l

Options :

 x HINEE (HAFADEE) STl
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- R-3egd (AF-HEAA) T

. v TREE (FAFES) Fersd

- g (T=3) sy

Question Number : 72 Question Id : 7246221192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
The incrustation of the well pipe cannot be reduced by:
Options :

, ® Reducing the drawdown and hence pumping rate

- % Using screens having larger area openings

- % Properly maintaining and periodically cleaning the well screens

4  Adding calcium carbonate

Question Number : 72 Question Id : 7246221192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
FT F TET F TS (Feeede) e # ¥ e g@R FH FE ORI o wear §7
Options :

. FoTEded F FH FX & AR FE THER TEIT 2T FH FF

1.

, HTes S9% JTol HW il BHE H FI9T FT5|

FT & oAl 1 3 @A AR TAT-TAY R 5 gaNT|

3 ®

4 v FHOUTH FEAS T FT

Question Number : 73 Question Id : 7246221193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Which law is applicable to explain sedimentation?
Options :

1 % Stokes law
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> % Hazen’s law
z % Newton's law

» All of the given options

Question Number : 73 Question Id : 7246221193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
TG (TSHEI) F FATA & o0 TFE T F7 waer G Jer 87

Options :

, & TEEE & TIE

& B @ A

. o TOE
4 » &I TTT Fal faeped

Question Number : 74 Question Id : 7246221194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Slow sand filters are cleaned at an interval of:
Options :

1 % 1-3 hours

5 % 1-3 days

« 1-3 months

Ly

4 w l-3years

Question Number : 74 Question Id : 7246221194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Hg, a1 fATaes (Tt 3 fheex) & fhaet 3igue X arw fRar =mar 87

Options :

% 1TH3EE

% 1&3RA
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v 1H37AE

Question Number : 75 Question Id : 7246221195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
The less offensive liquid waste from bathrooms, kitchens, wash basin etc. collectively called as:
Options :

| & Sewage

5 « Sullage

- » Garbage

4 # Yellow water

Question Number : 75 Question Id : 7246221195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
TEERT, TEEAr AT amer 38l ¥ e I 77 I8 a9 391ESE 7 FIT el ST 87

Options :

4 ® W?TH

Question Number : 76 Question Id : 7246221196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Purpose of providing inverted siphons is to:

Options :

1 « Carry the sewer under the obstruction. such as roadway. railway. river etc.

5 % Excludes grease and oil from sewage.

- % Join a hole in the sewer and the ground, for the purpose of lowering a lamp inside the sewer.
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4 % Allow excess wastewater to escape to a watercourse.

Question Number : 76 Question Id : 7246221196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
ewiAd T (e T Fg=a gar g7

Options :

v TR F FEF, 9, 7Ol FcAIG HEHT F A o F & e

« WET ¥ A 3 o e F B

[0

, TR & TF O Hf FAAT T s & fow, TEg §9r § o J9 39107 & T

4w AT 3afEre Joa & & Fourr § & &9 F B

Question Number : 77 Question Id : 7246221197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Calculate the discharge of a 40 cm diameter, sewer which is laid at a slope of 0.004 and is designed to carry a
discharge at a depth of 20 cm with Manning’s constant n =0.010 1s:

Options :
1 % 62.3 liters/sec

~ % 74.6 liters/sec

78.5 liters/sec

o ®

4 « 84.4 liters/sec

Question Number : 77 Question Id : 7246221197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
40 cm O F 3H WER § g9 arer [FEEor i e F{ S 0.004 F o W § IR 20 cm F
TMEE T ATEOT FF & v garar v g, sefe A fmaes n = 0.010 B

Options :

. % 62.3 Lis

, % 74.6 Lis
. % 785 Lis

4w 844 Lis
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Question Number : 78 Question Id : 7246221198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

A self-cleansing velocity may be defined as that velocity at which the solid particles will:
Options :

1 % Seftle at the bottom of the sewer

» Remain in suspension. without settling at the bottom of the sewer

z % Wash out from the sewer

» Cause damage to the sewer

Question Number : 78 Question Id : 7246221198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

T 397 38 391 ¢ 59 9 3y For

Options :

|« BETF IF H FAT & A0

, TR F o & 5 ge e Mo smer F @

[

5w G @ &g AR

e HIeR FT FHE Tgee|

Question Number : 79 Question Id : 7246221199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

In water distribution system. The balancing storage can be worked out by:
Options :

, » Hyetograph

> « Mass curve

- w Frequency distribution curve

4 % DAD curve

Question Number : 79 Question Id : 7246221199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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o7 [SaRoT uTmelr F Fdree oERUT (STHE TERe) T 1 & o hger g3 R S mear &7

Options :

| % BISEHITE

, » HEE 3% (ATE F9)

gfea foewor 3% (hreadr BEdeme #9)

z ®

, » ST (DAD) F%

Question Number : 80 Question Id : 7246221200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
A pipe carrying water waste from a building to the imumediate point of its dispesal is called:

Options :
1 #% Main sewer

g House sewer

[+

z % Lateral sewer

 Intercepting sewer

Question Number : 80 Question Id : 7246221200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
et s & 3fse Fier  Meean Aaew g 7% & S aer 98T F F41 el

Options :

L« B W

o v TBE WS
. e A

4 % FETAIET W

Question Number : 81 Question Id : 7246221201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
For separate sewerage system most suitable section of a sewer is:

Options :
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» Rectangular sewers

» % Parabolic sewers
3 « Clrcular sewers

% Oval shaped sewers

Question Number : 81 Question Id : 7246221201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

ot quagpa Aoaga (AT @ats) omer #H 57 T&R #7 3Eeey Fe awn d9t TEs 399ed gar 82

Options :

| % HTTOAERR H@ET
L Tl HET

4 R Bﬁmﬁl‘:ﬂ'

Question Number : 82 Question Id : 7246221202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

The flow velocity through sewer is independent of:
Options :

1 % Its diameter

5 % Its grade

5 « 1ts length

4 % Material of pipe

Question Number : 82 Question Id : 7246221202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

TeT ¥ 8 I 3T 9918 &7 397 g 9% Arenfig #87 2 22

Options :

| » 3Uh TH
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Question Number : 83 Question Id : 7246221203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
The sewer that receives sewage from collecting system and conducts it to a point of final disposal point:

Options :
1 ® Lateral sewer

> o Outfall sewer
z % Trunk sewer

4 % House sewer

Question Number : 83 Question Id : 7246221203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
3 WS T T FEa £ F TR JUmen (e ffTen) ¥ aiftg 79 9o AT ¢ 3R 3@ afEw
e Rig #r 3T vafdd #ar 22

Options :

| % oI @EY
5 HBETHS HaX
3 # EW

4 % BI3HE AR

Question Number : 84 Question Id : 7246221204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Crushing value of coarse aggregates for making concrete for buildings should not be more than:

Options :
1 ® 15

o B’ 30
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Question Number : 84 Question Id : 7246221204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

SARE & FHIE a1 & o a1l &% Tead A (FeT F57) T 3= FE g =T

Options :

1 # 15

o R 30
3« 45

g & 60

Question Number : 85 Question Id : 7246221205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Quick set cement is obtained by:
Options :
Reducing C3S content

#

1

Reducing C»5 content
» Reducing gypsum content

4 % Increasing C>S content

Question Number : 85 Question Id : 7246221205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

g afeer e HT 9reg Far 37 FFar g7
Options :

. % C3S 3% 1 & FF

o« C2S I F FH FF

5 TSHH HU FH FH e
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, « CoS 3T I 7a1 &

Question Number : 86 Question Id : 7246221206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

The line passing through the intersection of the horizontal and vertical cross hairs and optical centre of the object glass
and its continuation:

Options :
1 % Horizontal axis

~ % Vertical axis
3 « Line of collimation

4, % 5“ng line

Question Number : 86 Question Id : 7246221206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
#ifoer 3k R #@ aRT & st g qur 3P AR SEE IgEd § g R A
FAT FEAT 87

Options :

| % EIRAlecd Tlad

e}

, TBA HIE FIToIHAA

, % T EE

Question Number : 87 Question Id : 7246221207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Formula used in correction for curvature:
Options :

; ® 0.007849 d?

5 « 0.07849 d?
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4 % 7.849d°

Question Number : 87 Question Id : 7246221207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

TohaT MU & T -8 TF TgFT A 87
Options :

. % 0.007849 d2
-« 0.07849 d?
2 % 0.7849 d?

4 % 7.849 d?

Question Number : 88 Question Id : 7246221208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Correct method of Arithmetic check in rise and fall method:

A. TBS— TFS=%rise — Efall
B. last station R1. — First station RI. = Xrise — Xfall
C. EBS — ZFS = last station RI — First station RL

Options :

; % Only Method A is correct

Onlv Method B is correct

= % Only Method A & C are correet

4 o Method A, B & C are correct

Question Number : 88 Question Id : 7246221208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
TS TS Wiel a9 H HHII0Targ AT T Hel (&9 Hid-ar g7
A) IBS- IFS = Irise - Ifall

B) last station RL - First station RL = Zrise - Zfall
C) IBS- IZFS = last station RL - First station RL

Options :
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x ool Afr A TET E
x oo Y B @ET E
oy Faa Afr A i C wEr §

4 v A B 3R C Rftmr w8 €

Question Number : 89 Question Id : 7246221209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Convert 2 m? to ft?:

Options :

. % 3.290 f3

> % 35.31f5
2 v 70.62 ft3

4 % 98.21f¢

Question Number : 89 Question Id : 7246221209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
2 m3 Fr ft° F oREET #T
Options :

. % 3.290 ft3

% 3531

e}

s« 70.62 ft°

% 9821 fid

s

Question Number : 90 Question Id : 7246221210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Sewers are designed as:
Options :

, % Pipe
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» Open channel
z % Pressurized flow

% Closed system

Question Number : 90 Question Id : 7246221210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

IR &FF &7 7 ToEa e w22

Options :

, x TET

5 AT =

L « GElpd SETE

4 % 98 SO

Creneral EﬂgliSh

Section Id : 72462242
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 10
Number of Questions to be attempted: 10
Section Marks: 10
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 72462242
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 7246221211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Select the most appropriate option to fill in the blank.

Managing Director is busy in urgent meeting with the Chief Accountant.
Options :
j ow Al
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A an
5 « Lhe;an

4 % The; the

Question Number : 91 Question Id : 7246221211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Select the most appropriate option to fill in the blank.

Managing Director is busy in urgent meeting with the Chief Accountant.
Options :
1 % Aa
% A:an

5 « he;an

The; the

ok
!

Question Number : 92 Question Id : 7246221212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Select the most appropriate option to fill in the blank.

It looks as if these walls have not been painted years.

Options :
1 % from

- u for
3 « since

4 % within

Question Number : 92 Question Id : 7246221212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Select the most appropriate option to fill in the blank.

It looks as if these walls have not been painted years.

Options :
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1 % from
> % for
3 « since

4 » within

Question Number : 93 Question Id : 7246221213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Select the most appropriate option to fill in the blank.

She the speed of the car before we came to a sharp bend in the road.
Options :
, w Isincreasing

» % has increased
z % has been increased

4 « had increased

Question Number : 93 Question Id : 7246221213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Select the most appropriate option to fill in the blank.

She the speed of the car beforewe came to a sharp bend in the road.
Options :
, w Isincreasing

- % has increased
- % has been increased

4 « had increased

Question Number : 94 Question Id : 7246221214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Select the most appropriate option to fill in the blank.

“You will find this Robot troublesome vou raise your hand on him™ said the salesman.
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Options :
1 % evenif

« even though
» only if

4 % 50 that

Question Number : 94 Question Id : 7246221214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Select the most appropriate option to fill in the blank.

“You will find this Robot troublesome vou raise your hand on him™ said the salesman.
Options :
1 #% evenif

« even though
» only if

4 % s0that

Question Number : 95 Question Id : 7246221215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Select the antonym of the given word.

CROOKED
Options :
« winding

il
- # bent

3 % curved

o Straight

Question Number : 95 Question Id : 7246221215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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Select the antonym of the given word.

CROOKED
Options :

, % winding

> % bent
z % curved

o Straight

Question Number : 96 Question Id : 7246221216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Select the most appropriate option which means the same as the given word/greup of words.

SCREAM
Options :
1 % Weep

- « shriek
z % howl

o1
4 % groan

Question Number : 96 Question Id : 7246221216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Select the most appropriate option which means the same as the given word/group of words.

SCREAM

Options :
1% Weep

> « shriek
z % howl

4 % groan

Question Number : 97 Question Id : 7246221217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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In the following sentences four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

Hardly I had gone a few steps from my house when I heard someone calling me.

Options :

- u dafew
z % from

4 % when

Question Number : 97 Question Id : 7246221217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
In the following sentences four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

Hardly I had gone a few steps from my house when [ heard someone calling me.

Options :

- % afew
z % from

4 % when

Question Number : 98 Question Id : 7246221218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Select the wrongly spelt word.
Options :

. w lightening

5 % ligament

5 w lineage

4 « liquedate

Question Number : 98 Question Id : 7246221218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Select the wrongly spelt word.

Options :

, w lightening

5 » ligament

5 % lineage

4 « liquedate

Question Number : 99 Question Id : 7246221219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Select the correct passive form of the given sentence.

The Principal introduced the chief guest to the andience.

Options :
, # The chief guest is being introduced to the audience by the Principal.

- « The chief guest was introduced to the audience by the Principal.
- % [Ihe audience was introduced to the chief guest by the Principal.

« The Principal was introduced to the audience by the chief guest.

Question Number : 99 Question Id : 7246221219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Select the correct passive form of the given sentence.

The Principal introduced the chief guest to the audience.

Options :

, w The chief guest is being introduced to the audience by the Principal.
- « [Ihe chief guest was introduced to the audience by the Principal.

- % [The audience was introduced to the chief guest by the Principal.

4 R The Principal was introduced to the audience by the chief guest.

Question Number : 100 Question Id : 7246221220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Select the option that gives the correct indirect form of the given sentence.

Aditya said to me, “Your painting will definitely win you the first prize.”
Aditya told me that

Options :

| « my painting would definitely win me the first prize.

- % Yyour painting would definitely win you the first prize.

- % my painting will definitely win you the first prize.

4 % his painting would definitely win him the first prize.

Question Number : 100 Question Id : 7246221220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Select the option that gives the correct indirect form of the given sentence.

Aditya said to me, “Your painting will definitely win you the first prize.”
Aditya told me that

Options :
| « my painting would definitely win me the first prize.

- % Yyour painting would definitely win you the first prize.

- % my painting will definitely win you the first prize.

4 % his painting would definitely win him the first prize.

Cuantitative Aptitude

Section Id : 72462243
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 15
Number of Questions to be attempted: 15
Section Marks: 15
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 72462243

Question Shuffling Allowed : Yes
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Question Number : 101 Question Id : 7246221221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

The sum of three consecutive odd numbers and three consecutive even numbers together is 435. Also the smallest odd
number is 23 less than the smallest even number. What is the sum of the largest odd number and the largest even
number?

Options :
1 % 145

® 147

[

@ 149

L

4 % 151

Question Number : 101 Question Id : 7246221221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

e wARTT e et 3R 9 FAT §H GEImE 1 Ha AT 435 gl sue e, 39
“gaan RBYH §E 7O F B8 EC0 § 23 7 g 5O 99 RvR 56 R w9 99 55 5 A
IreT F4T 87

Options :

, % 145

o % 147
2 v 149

g -151

Question Number : 102 Question Id : 7246221222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
The salary of A is equal to 50% of that of B. If A got a 150% rise in his salary and B got a 25% rise in his salary. then
the percentage increase in combined salaries of both is:

Options :

331
1.8 3

[+
b3
.
=

L
i
£
=
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662
4.« 3

Question Number : 102 Question Id : 7246221222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Aa:réaﬂstéaaa:so%whuﬁA#éa:rﬁwo%ﬁraaﬁafrgég‘r,sﬂwsa:éaaﬁzs%
# sl g€ &, o g F a7 F Fo Fare e sfew & gfE 592

Options :

Question Number : 103 Question Id : 7246221223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
The sum of the cost prices of two cars is ¥ 1.00,000. First car is sold at a loss of 20% and the second car is sold at a
profit of 20%. If the selling prices of the cars are equal, then what is the difference between the cost prices of the two
cars?
Options :

, # 16,000

5 « T 20,000

5 % T24,000

Question Number : 103 Question Id : 7246221223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

& FRI & HIHeA! @ AT T 1,00,000 F TEN R F 20% T W AR gEY FR 20% W 9 =T
ST €1 3fE a PR F BT Heg SEN @, O 39% HaEed A F4 HeW 87

Options :

, % 16,000
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, » 20,000
. = 24,000

, % 32,000

Question Number : 104 Question Id : 7246221224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
A sum of T 5,076 was to be divided among A, B and C in the ratio 3 : 5 : 4 but it was divided by mistake, in the ratio

1 "

3

:1 . As a result:

|

Options :
; # AlostT 791 and B gained X 819

5 % B gained< 810 and Clost< 72

5 « A gained Y 891 and C lostT 72

C gained ¥ 72 and A lost T 891

4 #®

Question Number : 104 Question Id : 7246221224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
¥ 5076 % Te WA FF A, B AR C # 3 : 5 :.4 & 3Ed & der e o, T ok H, SHbT
F I H Fie &G T mqﬁwmmqwgm

Options :

L % A®T 791 F @ifer AR B F T 819 T wMH

W | =
| =
Lo

> » B T 810 & &y 3T C &1 T 72 & gy
s » AP T 891 & @msT A’ C & T 72 Fr gy

% C &I 72 %7 aH AR A FI T 891 Fr g

4

Question Number : 105 Question Id : 7246221225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
The ratio of acid and water in three solutions is 1 : 2. 5: 1 and 7 : 2. respectively. These solutions are mixed in the ratio
1:2: 3. In 540 ml of the resulting solution 45 ml water iz mixed. The percentage of acid in the final solution is:

Options :
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Question Number : 105 Question Id : 7246221225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

de el AT AR ST T aR@Ea e 1:2, 5: 137 281 @ Remai&r1:2:3 %
FTd # e ST 81 39 96N 9ea Read # 540 fHdeier foae dwt 3w 45 e o
forerar =rar & #fasE o & s F g e 22

Options :

662‘3"
1. 3 .

> % 50%

2 % 60%

s EI

Question Number : 106 Question Id : 7246221226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
246 442-x ,
If x = =—= . then the value of —— is closest to:
V3 +v2 443 +
Options :

, % 036

5 « 048

Li]
"
=
Lh
L%

L
b
o
]
Lh

Question Number : 106 Question Id : 7246221226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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afy x = 20 gar L2 oy Pt # ¥ B S e

yFggfa - 443+ x
Options :

. = 0.36
> » 0.48
- % 053

, « 055

Question Number : 107 Question Id : 7246221227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
The compound interest on a certain sum for 2 years at 5% per annum is T 820. What will be the amount of the same at
. 2 . v .
compound interest for 2- years at double the earlier rate, interest being compounded annually (nearest to a whole number)?
=

Options :
. % $9.098

5 % < 10,055
5 % 310,063

4 10,067

Question Number : 107 Question Id : 7246221227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
forelr ofr 9v 2 3§ # 5% TR+ ¥ ¥ 9wsfa aurer 820 B Tl W @R sWM AR A 2S A
e ¥ P 0 X W ey Bwe g, oft s aifte wafee 87 (v 1O wew % fawea)

Options :

% 29,008

, » %10,055

_ » 210,083

. v 10,067

Question Number : 108 Question Id : 7246221228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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A leaves from a place X at 10 a.m. at 40 km'h. B leaves from the same place at 2 p.m. at 80 km/h, and closes A. when
and how far from X will B meet A?

Options :

; » 6pm. ;140 km

5 % 4pm. ;160 km

= % 4pm.:200km

4« 6pm.:320km

Question Number : 108 Question Id : 7246221228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

T X ¥, A 9 10 &=, 40 km/h & =160 § I TRE SRl ¢ AR B o 35 ®uE @ @7 2 79,
80 km/h & =TT F T WReT AT & AT A F NS T g1 F9 HT X F e g WB, AR
fFremm?

Options :

| » HIT 6 & ; 140 km
. « WA 4 &= ; 160 km
.« TE 4 &= ; 200 km

T 6 9= ; 320 km

Question Number : 109 Question Id : 7246221229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

4 men and 5 women can do a piece of work in 10 days whereas 6 men and 6 women can do the same work in 7 days. If
2 men and x women complete the same work. working together in 14 days. then the value of x is:

Options :

1 ® 3

2o 7

Question Number : 109 Question Id : 7246221229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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4 7o AR 5 AfgeT v F4 F 10 G 7 FX T §, F90F 6 [TV AR 6 Afgene € FH # 7 ew
fra?{m%lngﬁwﬁ?xm&wmﬂmmgémmﬁmﬁmﬁwmaﬁr

g1 & x FT AT TAETI

Options :

Question Number : 110 Question Id : 7246221230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

3 21 a3 7 = .
IFx* + 22y 4+ y* = - andx® —xy+ Yo —- then the value of xy is:
o i

Options :

1
1% 4

o =

Question Number : 110 Question Id : 7246221230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
I x*+x%y2 4yt =— W a2 —xy+y2= i g, @ x1 T HT FAT grE?

256

Options :

1
1.8 4

[J
b
o
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Question Number : 111 Question Id : 7246221231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
The square of the sum of the numerator and denominator of a fraction is 289. If 1 is added to thrice the numerator and 2

is subtracted from twice the denominator, the fraction so obtained is the square of Z . The difference between the
numerator and denominator of the original fraction is:

Options :
1 B 5

2_-%‘-34

4 ¢ 1

Question Number : 111 Question Id : 7246221231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

T iR mFIT T 289 IR F AT A A I ST I IR T FFH AR
2 Tarar AT, A 9t [Hed Eﬂaﬁ%lm@ﬁ'#mrﬁﬁﬁmwﬁ?

Options :

Question Number : 112 Question Id : 7246221232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

The cost of a table is 60% more than the cost of a chair and the cost of a chair is 15% less than that of a stool. If the cost
of a table, chair and stool increase by 20%, 30% and 10% respectively. then the percent increase in the cost of 5 tables,
2 chairs and 1 stool is (correct to one decimal place):

Options :
1 % 198
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20.7

!'\_'l
%

= % 209

Question Number : 112 Question Id : 7246221232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

TF AT F HeT TF TE % Hod § 60% FOF ¥ 3N v T 7 AeT UF T F qo7 ¥ 16% FA
gl 3fE 7=, FE Ak To F qea 7 FAM 20%, 30% HRX 10% Fr g &, & 5 A+, 2 T AR
15 & Hod # 3T (GIHAT & U He de <) fohaa g7

Options :

L% 19.8
> v 20.7
2 % 20.9

L% 21.2

Question Number : 113 Question Id : 7246221233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

By mistake a shopkeeper sells an article at 20% less than the original selling price and gets T 150 less when compared to
the original selling price. Had he sold it at the original selling price, he would have gained 20%. What is the cost price
of the article?
Options :

1 8 3540

> % T560
2 % T600

4 & T625

Question Number : 113 Question Id : 7246221233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

T T T GEIER TRET IE T IEF AT T Aod & 20% FF Aod W AT &1 § 3R 5w
YR 30 aEates FwT g7 ¥ T 150 H e g1 i 97 avg & su% aealaw e g5 W
a9, A 30 20% o 9Iod giaT| 3% F FT Hed #4787

Options :
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% T 540
> % T 560
>« T 600

4 o % 625

Question Number : 114 Question Id : 7246221234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

The compound interest on a certain sum at a certain rate percent per annum for the second year and the third year are
< 1.650 and T 1,815, respectively. The sum and the rate of interest are respectively

Options :
< 12.000 and 10%

¥

1

5 » T 15,000 and 10%

< 16,000 and 8%

e
#®

« < 12,000 and 12%

Question Number : 114 Question Id : 7246221234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

ey ofYr o el sore foeel arfes wfoerd & & g@Y av 3w deY a¥ & faw Faen T 1,650 3R
21,815 &1 38 Tf¥r 3k =5 2T FA U &

Options :

. » 12,000 3R 10%

, » T 15,000 3R 10%
. « T 16,000 3R 8%

. = ¥ 12,000 3R 12%

Question Number : 115 Question Id : 7246221235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Ifx =3—+/8 and x% + % = 34,y > 0 then the value c:f|x — ﬁ| lies between:

Options :
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1 % Oand 1.1
> % 1.1and 2.2

2 and 2.3

_UJ
12

|

3and 24

Question Number : 115 Question Id : 7246221235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
I x=3-8 AR x2+y2=34y>0 § 7@ |x—Jy| ¥ 7= =g & & s &= 82

Options :

. % 0 3T 1.1

o % 1.1 3k 22

s ¢ 22 3K 2.3
4% 23 3T 24
Logical Abality
Section Id : 72462244
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 10
Number of Questions to be attempted: 10
Section Marks: 10
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 72462244
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 7246221236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Select the option that is related to the third term in the same way as the second term is related to the first term.

Antelopes : Snort : : Bats : ?
Options :
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1 « Screech

# Buzz

[

% Purr

L
H

4 % Hiss

Question Number : 116 Question Id : 7246221236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

37 e & 909 F S AWy g ¥ 8% 3 wE ¥ TEfUd &, 3% F gEw 98, e 9% ¥ wefed g

Antelopes : Snort : : Bats : 7
Options :
1 « Screech

> # Buzz
z % Purr

4 Hiss

Question Number : 117 Question Id : 7246221237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Select the pair of words from the given options‘that shares the same relationship as the word pair below does.

Wigilant : Active
Options :

, w Delinquent : Complicated
- « Convict : Prisoner

- % Immoral : Sympathetic

4 % Candid : Intelligent

Question Number : 117 Question Id : 7246221237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
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BT 71T Aot § T el & 35 JE &1 I3 FL AT A= T 70 e Fr AEr F gAT 9T 93T
T B

Vigilant : Active
Options :
, = Delinquent : Complicated

> « Convict : Prisoner

- » Immoral : Sympathetic

4 » Candid : Intelligent

Question Number : 118 Question Id : 7246221238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Three out of the four words below are similar in a certain way and one is different. Select the option that is different
from the others.

Options :

, w DBlueberry

- % Lemon
5 o Pea

Fig

Question Number : 118 Question Id : 7246221238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
A BT 71T 9% et H ¥ I e v FReg 30+ ¥ oA ¢ 3R =6 ¥ v e gl 39 e
FH T FL A GET F AT g

Options :

N:—ﬁq\(am;n
3 o HCYL

4_%@%
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Question Number : 119 Question Id : 7246221239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
If °S’ stands for ‘Addition’, ‘@ " stands for ‘Subtraction’. ‘#’ stands for ‘Multiplication’, and ‘€ stands for ‘Division’,
then36 ©6#4%5 @ 10="7

Options :
1 & 20

4.« 19

Question Number : 119 Question Id : 7246221239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

g ‘e, Oer & Pw g ‘@, T ¥ [T g, #, UEee & R R AR @, T & [y,
6O B6H#4@10=7

Options :

4 o 19

Question Number : 120 Question Id : 7246221240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Select the figure that correctly completes the image given below:

Options :

1.9
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Question Number : 120 Question Id : 7246221240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

37 B & 99w A A & g ofF A mEr & d 9@ AT g



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Question Number : 121 Question Id : 7246221241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
‘What will come in place of the blank in the series?
83,97, 103, 109,

Options :
1 % 212

WK
#®
| ]
%]
Lad

Question Number : 121 Question Id : 7246221241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
fr=fafaT sger & Reg Taa o F37 30e?
83, 97, 103, 109,

Options :

1. = 212
o o 127
> % 233

. # 255

Question Number : 122 Question Id : 7246221242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

Rahul scored 42 marks in a 100-mark test. Deepak scored 6 marks more than Rahul but 4 marks less than Rajesh.
Rampal scored 4 marks less than Avinash, and 5 marks more than Rajesh. Who scored the second lowest marks in the
given test?

Options :

, % Rampal

-  Deepak
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= % Rajesh

4 % Avinash

Question Number : 122 Question Id : 7246221242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Tger 7 100 3T T TU&T & 42 37 9d 0| g9 JF @ F 6 3 Hoew a0a v s Toer @
4 3¥F FH 9T F0 TATT F T T 4 3F FH 9T FU HT T ¥ 5 3F #10F gex Fo
T IUET F FH HF T A qar H gE T W FiE @2

Options :
1 & ITHYTH

v TTF

[+

S B TI@I'QT

4 % 3Taarer

Question Number : 123 Question Id : 7246221243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
If shower is called hair-dryer; hair-dryer is called clip: clip is called shampoo: and shampoo is called bucket, what will
be used to dry hair?

Options :
1 % Bucket

5 % Shampoo

5  Clp

4 ® Shower

Question Number : 123 Question Id : 7246221243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
IR ATeR F FIR-IA Fal 0T &; TI-FR Fr ForT gl o1 §; e a1 e wgr =ar & 3R deg
FI FHe (FTEE) FaT FGT § o1, e q@E F e hmewr 3T R sren?

Options :
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s w e

Question Number : 124 Question Id : 7246221244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
An address is given below which has been reproduced against the four alternatives. Of them, three have some mistakes
or the other, while one is exactly the same. Select the option that is exactly the same as the given address.

Shri. Vivekananda Chaube
H. No. 009,
Orchid Market, Saheb Jung,
Sultanpur,
Uttarakhand — 248001

Options :
Shri. Vivekananda Chaube
H. No. 009,
Orchid Market, Saheb Jung.
Sultanpur.

1 « Uttarakhand — 248001

Shri. Vivekananda Chaube
H. No. 0009,

Orchid Market, Saheb Jung.
Sultanpur.

Uttarakhand — 248001

1
2

Shri. Vivekananda Chaube
H. No. 009,
Orchid Market. Sahab Jung.
Sultanpur.

7 % Uttarakhand — 248001

Shri. Vivekananda Chaube
H. No. 009,
Orchid Market. Saheb Jung.
Sultanpor.

4 % Uttarakhand — 248001

Question Number : 124 Question Id : 7246221244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
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Shri. Vivekananda Chaube

H. No. 009,

Orchid Market, Saheb Jung,

Sultanpur,

Uttarakhand - 248001
Options :

Shri. Vivekananda Chaube
H. No. 009,
Orchid Market, Saheb Jung,
Sultanpur,

1 « Uttarakhand - 248001

Shri. Vivekananda Chaube
H. No. 0009,
Orchid Market, Saheb Jung,
Sultanpur,

s # Uttarakhand - 248001

Shri. Vivekananda Chaube
H. No. 009,
Orchid Market, Sahab Jung,
Sultanpur,

2 # Uttarakhand - 248001

Shri. Vivekananda Chaube
H. No. 009,
Orchid Market, Saheb Jung,
Sultanpor,

4 # Uttarakhand - 248001

Question Number : 125 Question Id : 7246221245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Vandana is Ankush’s only sibling. Ankush’s wife, Vinita, has a brother, Gopal. Swati is Vandana’s only niece. How is
Swati related to Gopal?

Options :
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1 « Niece
> % Sister
5 % Sister-in-law

4 # Cannot be determined

Question Number : 125 Question Id : 7246221245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
qEAT, A B FFeT g8 g1 HFY F T, B w1 vw o1, Ao ¥ w0, dEar # st
TS ¥ Y, oer ¥ Y wEfe B

Options :

eneral Awarerness

Section Id : 72462245
Section Number : 5
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 15
Number of Questions to be attempted: 15
Section Marks: 15
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 72462245
Question Shuffling Allowed : Yes

Question Number : 126 Question Id : 7246221246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Mughal Emperor appointed the British East India Company as the Diwan of the provinces of Bengal in the vear:

Options :
1 % 1623
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Question Number : 126 Question Id : 7246221246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

IS FAE A, TS & 9 #mﬁimﬁﬁ%ﬂméﬁméﬂﬁﬁﬁ'ﬂﬁ?ﬁmaﬁﬁﬁiﬁ?
Options :

. % 1623

5 v 1765
- % 1835

4 % 1917

Question Number : 127 Question Id : 7246221247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
Battle of Plassey was fought in the year:

Options :
1 % 1657

E
o
20
L
-1

Question Number : 127 Question Id : 7246221247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
ToTET @Y e w9 #7 o2 e o

Options :

% 1657
o % 1857

2 v 1757


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

. % 1957

Question Number : 128 Question Id : 7246221248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

Sardar Sarovar Dam is constructed on which of the following rivers?
Options :
Ganga

i,

5 % Sutle]

3 « Narmada

4 % Mahanadi

Question Number : 128 Question Id : 7246221248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

FER TR oy, =g atal 8 ¥ e o &fFEg G = 27

Options :

]

[+

4 % HeTTer

o8

Question Number : 129 Question Id : 7246221249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
The Tropic of Cancer passes through all of the following except:

Options :
|  Haryana
> # Mizoram

«» Madhya Pradesh

« Qujarat


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Question Number : 129 Question Id : 7246221249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
F @, T 75T F1 oew Sl @ IsE § Fe TR 87

Options :

1.9 gheamom

]
74

Question Number : 130 Question Id : 7246221250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
‘Which of the following is correct?

Options :
, % The Chief Minister dissolves the Legislative Assenibly.
> % [IheLegislative Assembly is not subject to dissolution.

- % Ihe Speaker of the Legislative Assembly dissolves the Legislative Assembly.

4 « The Governor dissolves the Legislative Assembly.

Question Number : 130 Question Id : 7246221250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

T=oRT & @ &9 31 F99 T 87

Options :

e HEOAS fauT= T &1 797 FT Tl g
o « T T F Rwes FE BT S g g
_ » TS WET 3reTET (WETT) T WET 8T X HendT gl

, v T=O9d e |7 &7 ST FX A g

Question Number : 131 Question Id : 7246221251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0.33
‘What is the minimum age requirement for membership of the Legislative Council?
Options :

| ® 42 years

5 o 30 years
20 years

27 years

Question Number : 131 Question Id : 7246221251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
frue oRwe & FewTar &g =FaR HEEE Hg #4727

Options :

% 42 9§
5« 30 3§
- % 20 ¥
4 % 27 a9

Question Number : 132 Question Id : 7246221252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
‘Which of the following is correct?
Options :

, « The Governor holds office during the pleasure of the President.

- % [Ihe Governor holds office during the pleasure of the Chief Minister.

= % [The Governor holds office during the pleasure of the Attorney General.

4 % The Governor holds office during the pleasure of the Prime Minister.

Question Number : 132 Question Id : 7246221252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33

TaeRe & @ Fi9 o7 Fu= T B2

Options :
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Question Number : 133 Question Id : 7246221253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
‘When was the Planning Comumnission of India established?

Options :
1 % 1951

[+
%
[y
N
L
=

Ll
e
ok
O
=
o

Question Number : 133 Question Id : 7246221253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
T H WSTaT HEET H BT 7 S s off?

Options :

, % 1951

- v 1950
> % 1949

. % 1952

Question Number : 134 Question Id : 7246221254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
“Bharat Nirman™ was launched by the Indian Government in which of the following years?

Options :
1« 2005

5 % 2006
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5 % 2007

4 % 2008

Question Number : 134 Question Id : 7246221254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
T TR g ‘o AT & s Talefea 7 & e av & fear = ar

Options :

.« 2005

, 2006
2 # 2007

.« 2008

Question Number : 135 Question Id : 7246221255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Trade and Economic Relations Committee (TERC) is headed by of India.

Options :
1 % President

> « Prime Minister
Finance Minister

.3'"{"

Finance Secretary

i
#

Question Number : 135 Question Id : 7246221255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
SR U9 {1 He9 AT (S35 $r 3egedr, 9Rg & ZanRT Fr =T T

Options :

> v TS
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Question Number : 136 Question Id : 7246221256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Which among the following controls beating of the heart and respiratory movement?

Options :
. « Medulla oblongata

5 % Spinal cord

- % Spinal nerves

4 % Pituitary Gland

Question Number : 136 Question Id : 7246221256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
@ & @ 39 o Reea, a &1 uysea 7 9ua TR = fEfg sEr 2

Options :

1.4 3
ST ] m%ﬁ_ﬁﬁﬁﬁ

Question Number : 137 Question Id : 7246221257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

By displacement of water method. we can measure the volume of
Options :

. w any solid, liquid or gas

- « anirregular solid

- » aliquid

4 % airin the atmosphere
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Question Number : 137 Question Id : 7246221257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

q&Er & farama fr B @, 77 & AT FT AYS FT TFd g
Options :

. #1% o 3F TEg, A IEG YT A

Lz 9

, T FATAET 39 a5y

2.

- NEh el did
3 ® D

. TR H g4

Question Number : 138 Question Id : 7246221258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
Select the program that appears to be harmless but actually produces harmful results.

Options :
1 ®% Worm

> % Virus hoax
5 « [rojan Horse

4 # Patch

Question Number : 138 Question Id : 7246221258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

U YA H IS FL A BHE T Bl § W AT A gIeieRes TROMH 3ce H g
Options :

5 ITITT A

]

4.#3)?

Question Number : 139 Question Id : 7246221259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Correct : 1 Wrong : 0.33
Who is the author of the famous book *Madhushala®™?

Options :
1 % Suvbhadra Kumari Chauhan
- % Makhanlal Chaturvedi

3 % Sumitranandan Pant

4 « Harivansh Rai Bachchan

Question Number : 139 Question Id : 7246221259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33

AT ATHF TS T & o i 87
Options :

gateT FANT =g

1. ®

maa___é"c?r
I EICET] e 9
4 v ENERRE F==

Question Number : 140 Question Id : 7246221260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.33
In which of the following states is Somnath temple situated?

Options :
1 % Maharashtra

» % Karnataka
» Gujarat

« Madhya Pradesh

Question Number : 140 Question Id : 7246221260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0.33
T=oT o=uf # ¥ gaay A F71 &g 82

Options :
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